gooooIiicoooooon

gooooooOooobooooo

d?y

dx?

0-2=f(z) 000000000

028p0000000000000000

Py 5, d*y

i i
vw,vd z 00000000

(w)'=u-v4+uw-v' 00000

u’~vd;v:u'v—/u~v'dx

d2y w
dy d*y  dp
— =pUO00000 — = —
dx p dz?  dx

d
02 _ 2000 pz/a:Zefda:
dx

O0u=2%,v'=e*00000
O0u'=22x,v=€e*000000

p:x2-ex—/2m~exdx:x2ex—2/xe’”d$

p=x261—2<x~ex—/1~exda¢>

O = 22%e® — 2(ze® — e*) + C

d
%:( 2 224 2)e” + Oy

Yy = /{(332 — 2z +2)e” 4+ Cy }dx
ooo
/(x2 — 2z + 2)e"dx

= (22 — 2z + 2)e” — /(29: —2)e"dx

=(2?—22+2)e" — {(2x—2)e$ —/Qemd:r}

= (2% — 22+ 2)e® — (22 — 2)e” + 2¢*
=(@2?-4r+6)*000000

goooogoooooo

y= (2% —4x +6)e” + Crz + Col
OO0ooooooo (G,,C,00000)

d?y
2
W _ opppop®y_ %

dx dz?  dz

d,
O —p:longDDp:/logxdx
dx

O0u'=1,v=logz 00000
OD0uw=z,v'=1000000

1
p:xlogxf/:cofdx

x
:mloga:—/dx:mlogx—x+01

d
O —y:xlogx—m—l—Cl
dz

y = /(xlogm—x—i—cl)dx

god

2 2
1

/xlogxdx: x—logm—/x—~—dx
2 2 x

1 1
= §x2logx— §/acdx

12 12
= ;e’logz — 22°000000

1 1 1
y = E:EQIng — ZxZ — 512 + Chix + Oy

ooooooooooo
1, 3 9
yzéz logxfzz + Cix+ Cy0g
0000000 (C,C.00000)



